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1. (a) Fill in the blanks with appropriate word/words : (any four)
; 1X4=4

OIS WS G AR o[ I ¢ (R b))
%ﬁggﬁ%/ﬁﬂ&%f%ﬂﬂﬁﬁﬂﬁﬁ&@nsam%amwmw®‘

() New Ratio — Old Ratio = __ °

2

TS SFATS — #f5fe Sgee =

T TGO — RN S = 2|

(@) Closing Stock is valued at cost or market price whichever

1S
@ Al ISR & R, O €590 AR Tgres s 2
2| :
G < AT @b T, O AR (7 Tqo-4 e
4l 27 |

(1ii) statement is also known as Profit and Loss
Account.

Rgfe ame-(Eesm 26is 3fre o 3|
e ste ¢ weq R wele o a7

(iv) is the extra earning capacity of g partnership
firm. |

_TH 0 SAme Ao wieRe G ST R5eq Ty |
= O i e SR se SIZR. ey |

(v) Balance Sheet shows financig] of an enterprise.

@@ 2[qs 3@5’ I /ey T R

Tgesa (I AUt S ORI |

21 [ ACOL : [2]

(b) State whether the following statements are

| 1x2=2
O SfEwWR ‘wn o7 ‘wem By g
BEGIEIS Ryfoef wm T CEF () e
() Company is an artificial person.
Gl <Ol Ffa i |
@I @6 Flay i |
(i) Debt-Equity ratio IS a kind of liquidity ratios.
WSTIR TS we SISy 95 29|
49280 ST =5 @5 e O S |
(¢) Choose the correct alfernative : - 1x2=2
% CeI0! R 341 3
W Rl S e ¢
() When a new partner is admitted, the increase in the
value of assets is debited to :
cﬁaﬁa@ﬂwng@ﬁmﬁ@ﬁﬁﬁhﬁﬁﬁ?ﬂ%%ﬁﬂ@%(Eﬁ6$m
8 Wi : |
W@ma@wﬁw@w S R, TR 7 3% w5 @
2B ¢ e
(@) Profit and Loss Account
e-GEIRB Z5i7ie
e ¢ wien iE
21 / ACOU [3] Contd.

‘True’ or ‘False’:



b

(b) Assets Account B |
‘ : 2. Name two types of shares which a company can issue.

4 . | | GGl (SINIE [ SR o[ 13 eier siisiag 915 5|
sTifeTzg B St
! (RICT A (@ 7R AR Ske+g [ w0 2w Giefm aim @i
(c) Capital account of old partners |
: : 3. Mention any two items which are recorded on the debit side of
Tl SR e Bpisie J Profit and Loss Appropriation Account. : 2
SN SRR ST AN | SIS-(ARROI CAIGH RSt#R (B <Ficet fifdiae 31 R 7o = Gesl <1 |

(d) None of the above SIS~ (EIEI SHACAISH AR 49069 Tt il <11 (e 77 2 Sl S |

\?W 1S T2 : | 4. What is Partner’s Current Account ? 7
T (FIEIDIZ T 0, , : RIS bieTe f2pisl /52
(i) As per Companies. Act, 2013, the maximum rate of ' i SRR blere 299 12
interest on calls-in-arrears is : ;
i s . _ OR [ Z3l [ @2
(RN @2, 2013 TS G S G20 9 2 A0S R : .
s b R AR l i What is meant by guarantee of profit to.a partner ?
(R(R ¢
2 h AW Fied afers e & 361 ame
(RI=ATTT SIf2e, 2013 SAPIIE e A SR A% J0H IR 2 ¢ |
SRAMIEE #ced eifoxifs s F @RIR?

(@) 11% _

$39 5 _What is paid-up capital of a company ? 2

S ?

(b) 10% GBI AR TGS Toeel S

$0% (I AT SMAFO L 12

o { What is meant by computerised accounting system ?

L% ;

: | FCo RS (TS 2elieTl W & g @i e
(@) 12% ; :
| F TS ARG 2ole] TIe F @RI ?
>2% | | )
el | 21 fACOU [5] . Contd.
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Give two limitations of financial statement analysis. 2
e dforEvE Re@em 760 Fiael G 9= |
e R Resmwem 7 THme! S @ |
OR / 7z | 92
What is ‘data verification ?
o2y e 52
© ABIEFR 2

Write two features of cash flow statement. - 2
9 47 2R SO 76 @miey =R
5 & 2T AR 76 (IS IR |
| OR [ 721 [ @24t
Write two uses of electronic spreadsheet.
e (TR 75 R B
ZER AT Cfm*‘ﬁt‘lm 75 IR2F (Al |

A, Bamnd L€ eane partners sharing profits in the ratio of 2:2: 1
respectively. They-admit D as a new partner for 1/6th share in the

profits. Calculate the sacrificing ratio. 3

A, B WI% C fofiee Sdimia Ol (DS @ 2: 2 : 1. SFoies @ie 355
(A | (ST & 1/6 OHE 7% D-F T SRAME Zo1c7 ©f% 1 | wsia

SAIe e 4 |

A, B & C ZT S5 SIRAIHI @38 O] I 2 : 2 2 1 SHolits &l1e 395 53|
ol 1/6 W TSR SRAMIRY D@ T AR BT s v wier

TS e |

[6]

9.

OR / 7231 [ 53<)

Explain  the super profit method of valuation of goodwill.

FS SIS SIS AGNOTs! 1R = |
WWWWWWI

Write three uses of financial statement analysis.
e efforar R O 2
el eifere ResReeR & T=E Gl |

OR / Mz [ &2l

Seru Ltd. Has a liquid ratio of 2:1. The values of inventory,
prepaid expenses and current liabilities are Rs. 50,000, Rs. 10,000

and Rs. 2,00,000 respectively. Find out the value of current assets.

(2= PIIows wee] SEsiie 20z 2 : 11| T5ps, Sifel] e IR O bere (e
sifasiel @ 50,000 5=, 10,000 B ©i=: 2,00,000 Wns’ﬁ—ﬂwﬁw

el =t |

(i@ ARIE0R OFe SATe T 2 ¢ 1| W9, S o WWhIR GR HETS (TR
ANl A % 50,000 SR, 10,000 B €&k 2,00,000 BRI BT

Aofied o el |
OR /[ 7RI [ @23

Mention the steps for creating graphs using Excel.
Excel 84 T8 @1 (oA T AMCEATIR T T4 |

Excel T99E @ @4 (OF FAR el T = |

21 / ACOU [7] Contd.




10.. What is buyback of shares ?
| siR*iPlEs e o 2
SR (AT T2
OR / 3’73?7 [ =g
Give three egamples of cash inflow from operéting activities.
TN PR 27 (I 10 4 2Rz [ofn Sz fa |
IR TR (A Beot Fam < BRI fe/E Sz e |

OR [ 7271 [ @24t

Write in brief about Aecounting Information System (AIS).

(RIS O AT Kaca 59ee i |

foraes O ddislg TEE ATl @

11. Write three distinctions between Revaluation Account and

Realisation Account. 3
RIFRA Rbl7l Sl JenmEes Rpiei e fefbr siefy

AT A @ SEaRel AR oA e A1 (oA
OR /[ 723l | <4
Why a retiring partner is entitled to a share of goodwill of the firm o)
GG SRR S [ AfSUEAE FTE Bl SR SR o

G SRR AR (< eSO IR 9 ST S o

21 / ACOU ' 8]

12. Prepare a Comparative Income Statement from the following
particulars of BP Ltd. : 6

BP-fifiowd ©ee O #Sl G TEeIers SF aferive awe 39 ¢

BP-FR5es MafkiRe 9t fofers qait wammes o aiforame 4o 6 ¢

Particulars (Rewel/fsd) 2022 ) 2023 .(3)
Sales - 4,00,000 6,00,000
Cost of Goods Sold 60% of Sales 60% of Sales
Rl 1 7R T . RER 60% £ 60%
’fe =1 TN T T 60% fife 60%
Indirect Expenses 9% of Sales . 5% of Sales
ARIT 7 Rel 5% kel 5%
N <D ' ki 5% ki 5%
Rate of Income Tax 50% of Net Profit 50% of Net Profit
YEEE ] before tax before tax
~ #% 50% wed 50%
o ¥ AES 50% a1 &R 50%

Explain the nature of financial statements.

faein aferamerTEs AFes I il <41 |

OR / 724l | @241

wifdfe eforamrnza o T |

21 / ACOU
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OR / (A | St |
(b) 10,000, 15% Debentures of 2100 each issued at a premium

of 10% and redeemable at par.

Discuss the features of Database Management System
10,000 B, 100 TFIA 15% eisig 10% SRS [t T S 7RIS

SIBIED ARG ~Ros (WHBPRR SIbl 541 | -
SiBIE AR STafes [WRERE S T | | il
_ 10,000 f5, @ff6 100 B RGHE 15% wei7id 10% e <= =,
) TR AR |

13. What is meant by debenture ? Explain the typeé of debentures
, 1+5=6 '
(¢) 2,000, 8% Debentures of 2 100 each issued at a discount of

4% and redeemable at par.

elAq - 2 ' :
a TS T @RI ? A0 TS 0 R 2,0005 100 TEEI 8% dae@ 4% o [E FE A FRT©
SARCANET | |

ﬂ:ﬁﬂ@iﬁﬁﬁs?@ﬂmé Al7[@] AP 1T T4 |

OR / 7z | w3 |
‘ | 2,000, efefs 100 B REI 8% wawi@ 4% gics [ =1 =1, [
TEE AR |

Give journal entries in the books of MB Ltd. for issue and

redemption of debentures under the following situations :
14. Explain how the amount due to a retiring partner is ascertained.

. 2x3=6 ;
MQW@WWWWWW%WWWW " _ b
#iff% Al ¢ | . o SR S 3 S ARG e AR e e 9 28 e
MB ffites 33 RefRe Smzpee ofE weeE B @k s il . _

GIele (TS ¢ e SRTEEE TTIER el S o Frei e Fh =, TR0 S
(a) 2 4,50,000, 12% Debentures issued at a'discount of 5% and OR [ TRI | S
profits

Babatu, Cintu and Montu were partners in a firm sharing

redeemable at a premium of 5%.
| and losses in the ratio of their capitals. Their Balance Sheet on

4,50,000° 5FIM 12% =@ 5% ACre [ 3 O 5% wifgRe |
AR | | 31-03-2022 was as follows :
4.50,000 TIFR 12% @@ 5% A5R B = =, A 5% wf | | QIITH, B T TG (SSER TAFR SHATSS SiTe-CAIH 75 T SRATE
SARCNATT | i Al | il 81-03-2022 e (oS Tresige S Tl R S 8

21 / ACOU [11] Contd.
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Fiare, % @’ TG aﬁﬂmw%@m\ﬂmaﬁwwﬁww
Fe ¢ (EIAN 6 99 | 31-03-2022 St Sithd WieTsi-<16 el e ¢

Balance Sheet

Babatu died on 30-06-2022. Under the terms of the partnership

(Tge /%fa—vr)
Liabilities (2) Assets (2)
(1 o) (531/5r) Greife/ i) (31/5r
Creditors 3,000 | Furniture 8,000
AN GTIE / 2T CIPRISVAR NS
Reserve Fund 3,200 | Stock 6,000
e A /e A /TGS
Capital : 7 " Debtors 6,000
A /e CRTITIR /4T
Babatu = 10,000 Bill Receivable 1,000
<RICET /RIS elisty <=1/ 2iely et
Cintu = 5,000 Cash 5,200
55 /G 9% /=57
Montu= 5,000 20,000
T3/
26,200 26,200

deed, the executors of a deceased partner were entitled to

30-06-2022 SIR¥S IR I & | KA 5fe< 56 wrpif 7 vk

SR I ¢

30-06-2022 wific< TGA T | FAWIR b 1S o IO S

AfSfafaat s 26T SR 2

21 / ACOU
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()

(%)

(iii)

(iv)

Amount standing to the credit of deceased partner’s capital
account.

TS SHAIMRE J14H ZDieia (B 2 ety 2|
J© SIATIER e AR SiiTe (A sifoy el
Interest on capital @ 5% p.a.

AR 5% TS FLT €S H© |

TN CAE T=E 5% W I\

Share of goodwill on the ba51s of twice the average of past
three years’ profits.

oo fof 259 oIw ST yuas e (ods Fmm wied |

et o Tz 1w #iten g-ere fers oR i e |

Share of profit from the closing of the last financial year to the
date of death on the basis of last year’s profits.

ﬁrwmﬁi‘vﬁvwﬁﬂ*@amr*ﬁ%m

B[H |

ﬁﬂ—mf%wmc%wﬁamﬂ—wwﬁﬁ—w
R | ;

- Profits for 2019-20, 2020-21 and 2021-22 were 36000

X 8,000 and 27,000 respectively.

2019-20, 2020-21 SF 2021- zzam—m 6,000 5=, 8,000
Bl S 7,000 B wnfes |

2019-20, 2020-21 4R 2021-22 47 #[eNZ TAE 6,000 TR,
Sooowaﬂa\moow%a

Prepare Babatu’s capital account on the date of his death.
ARIOR o e (9€9 e Zoie odwe 54|
RIS o IR O AR A oo |

21 / ACOU [13] | | Contd.



. 15. What is meant by dissolution of partnership firm by giving notice ? - '
| (i)

Mention any four situations when a partnership firm may be Fixed assets are realised at % 27,600 and debtors realised at

60% of book value. ‘

dissolved by the court. Dt 2+4=6
e 7E SRR TR SR A [ @ A RS AR SR Z AT
: i} e A ¢ SIEls N . Z13 FeraEl W27’6OOWWW .
AR SRR &4 7@ Rl BIRGT +/f{fEfe T | 60% SR (ARl 23 | 3 A T SR S
et @i T KA AT SRR <ETeS N R ? (P DR OREE '
s : : | fafeq 2T i€ AWM 27,600 B G=] @
T R @A e Al @ TR AfPiER SREE Fa @ce e | | _ P Bl @92 (AR v 2AREee! JETd 60%
: S gl : | _ (i) Investments are taken over by Tarun at book value
Tarun and Moni are two equal partners of a business. They decided ' ol : '
wel IRPETS RIFCEIPRR &2 s |

to dissolve their firm on 31st March, 2023. Their Balance Sheet on
that date was as under : ]

TR AR 0T S A% S |

WGI FURRI ORI R O S 3} iy 202 o | (iij) Sundry Creditors agreed to accept 15% less.

COSERR AT SR P o | G SifRYS (SETEITA TG7a 9eTo )

fral 43¢ et ¢ : Ry ANCTMEARE 15% TP &A= FlRACeT ATS 2 |
- Rfen sleTmiEal 15% I FHre F9e |

el e A G5 IR SO | SRl 3161 A6, 2023 I wic
- “lfﬁg S G| 3 i o@ W w7l w5 ¢ \ (iv) Stock are realised at X 40,000.
‘ TGed A9 40,000 G WMIE 9 2 |

Balance Sheet ‘
(Toe #a / vged) ' f IG© @Y 40,000 GRFl SIMR 41 = |

Liahilities R) Assets () t (v) Expenses on realisation are ¥ 500.
ca i Gt Bt Br | e/ Tle Gl /il r FOMEGCR 4<% 500 Bl |
Sundry Creditors 20,000 | Cash 2,000 | S R D 500 31?151
A Al Riv AR Al 19T | R e L
e 5,000 | Debtors 20,000 (vi) An um‘fcorded printer realised < 500.
e i </ (3 4 /A | 9Bl SfEPRE DR 5l 500 G (oAl e |
Capitals © Stock 25,000 | 4 WP DR IR 500 B AeRl (|
T [ GO/ A0 | Close the firm’s books by preparing a Realisation Account,
Tarun= 30,000 Investments 5,000 ; | Partners’ Capital Accounts and Cash Account.
_ [eeyal &: ‘ ;
o o7 ﬁl el /Tt | ‘ | SeAERe f2piel, el e Rove O 9o fepiet e R e Rl
Moni= 20,000 50,000 | F %‘ed ASS@;@ 23,000 | FRPAR T I
g :p, 7 ;”\'3 e ﬂﬁpf% . o -
ifet /0 5 % / RN, | SRR BE, SR T O @R ol [ 2 G I e
79,0 75,000 | Secaill
V,—/——’J—i—:’:#j_' e
~oU 1] 21 / ACOU [15
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16. Ayushi Ltd. issued 7,000 equity shares of 210 each at a premjum

of 2 per share payable as follows : 8
On Application - 23
On Allotment-2 5 (including premium)

On First and Final Call - 3 4

Applications were received for 11,000 shares. The excess money

was refunded and the allotment money was received in full. When
the first and final call was made the amount due was received with
the exception of 200 shares. These 200 shares were forfeited and

subsequently reissued as fully paid up for a consideration of 26

per share.

Give Journal entries in the books of the company recording the
transactions. .

Ayushi Fifesce @fed@ 10 5l JEE 7,000 <7 IS 2fodTs 2 Bl
iz B SR SR 20 oo frl e AR TR e ¢
i@ 9 ~ 3 5F '
S[4GE F9S — 5 51 (AR C109)
ﬁﬁ@@@@wﬁmr@_a}m .

11,000 S<{#(E= A WA (AR ifee | s e = g AR Al Cafe
o SR 4 T Fe ke | (Rl SR I 5UiT ©F[ F4 T, 200
o 5171 R A FeCa] 4 Sl (A T2 | @B 200 < SRHPE e

et 72 I 2lfde 6 e p1PfS SO 7l SIMRFS H7%® 2§ fafeq
el '
@A Be EEETEE ErRae
Sl Gifao afefs 10 Bizl I 7 0007 Fmiia 2ol 2 Ol S Ry
et 1 R AT 8

o 2ica S @lfdifE |

SR A0 — 3 T
B A — 5 B (R AT)
o2l A PONE St A~ 4 5%

[16]

21 / ACOY

11,000 SKH#(E S S “Neal fivafes | wivfie o<l (e (el R <5
SRGCR A ARACA SR T ZCAET | I3 A R P e TRl R
2006 TR¥I+T 2ITI AR T BB Gl Fvjeferrsl ST <l LA | % 2000
S ACEAIE . I 2 G S 6 B Rewa Tl e AR
=1 = | | ' .

@R 7S EETTRR FRREEeE T SEee (RIe |
| | OR /[ ¥ [ =431
Write short notes on : (any four) 2x4=8

53 (brnl fovdl ¢ (FRiepiear oif<on)
el BRA oTCl ¢ (CF-CRICAT) BIFiE)
{a) Under Subscription :
F% TS
(b) Capital Reserve
T ff
(c) Pro-rata Allotment
AAGAITEF S
AT TR
(d) Securities Premiufn
GIOCIORCIREE
(e) Convertible Debenture
ST Aol
FeffEacaial Aeelg
' OR [ 7zl | @AY
- Write the limitations of Computerised Accounting System.
FToRGe (I e TRRaorHR &l
o UBis e 2 TRREOTHR el |

21 [ ACQU - [17] Contd.




17. Sikha and Sneha are partners in a firm sharing profits in the ratio

of 2:1. On 1st January, 2022, their Balance- Sheet was as under :

8

Rl S 72 2 : 1 SAS® 1S B = I SRR | 1 SEid) 2022
SRS (OSEIT TF€ g were AN Wi SifRe ¢

il @R (== 2 1wﬁrwa%maﬁm&aﬂ%ﬁma@\%| 2022
A 157 SIgER OivE Ugerd a2 ¢

Balance Sheet

) (Tgeria/ Tgeria)
Liabilities () Assets ()
et/ Cet Bl /Bt | T/ rite 5 /G
Bills Payable 10,000 | Cash in hand 10,000
eira Rt/ 2o e I T/ S
Creditors 58,000 | Cash at bank 40,000
sparig/ 2lleamid ([0 Gl /ICE Gl
Outstanding Expenses 2,000 | Debtors : 60,QQO
e YA G I /T ‘
Capitals ; Stack 40,000
T/ T PR 5
gikha = 1,80,000 Plant 1,00,000
ﬁgn/ﬁiﬁ EERICIVEEERIS |
gneha = 1,50,000 3,30,000 | Building 1,50,000
i 2 ICRafASD e
4,00,000 4,00,000

é;ﬁr/'@fﬁ?f_ F@WT@@QWW@@—@WWWWW

ﬁﬂmgﬁﬁfﬁms

21 [ ACOF
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TARIE It Ol MR *$iceirs s soq S REE 42 356 $

(i)

(@)

(111)

(w)

(v)

Anisha will bring ¥ 1,00,000 as her capital and Z60,000 as
her share of goodwill for 1/4th share in the profits.

YbIR #Ted 1/4 w\*ﬁam‘@ﬁww 1,00, 000 Bl II<E FAIT
Sie*g qm 60,000 G ST |

SIS 1/4 SE T ST T q/7% 1,00,000 Biel G3R FACE I
AW 60,000 BIH S |

Plant is to be appreciated to ¥ 1,20,000 and the value of

- buildings is to be appreciated by 10%.

FIAE 0 1,20,000 TS Jfa 91 ®F S S99 T 10% Iz 40
g4 |

FENE T 1,20,000 Wﬂaammaw 10% 3= == =31

Stock is to be valued at 2 36,000.

TG Y 36,000 TF© Fl 29 |

- GCed RN 36,000 B Tl T |

A provision for bad and doubtful debts is to be created at 5%
of debtors.

(TS SATS SRR I FARGT (i< A 5% 2 A o9 51
24| : :
SRR R NWEGTE Ol AW (MG SR 5% T A oon 3=
||

Creditors will 'increase by 2 1,000 as an amount payable to
Priyanka for goods purchased on credit was not taken into
account. ‘

Al AR 1000%2{%2@5’3 TR AR AN TR AR
s e o SRIF 2oee @l cr S|

oG AR 1 oooﬁmﬁaﬂwﬁa i qifCe AN SRR TR
R 2 RIF IR @ =@



Prepare Revaluation Account, Pass J : ; 3
e e ris ?u;nal Entries and' prepare Dejnt : (]) | Credit
AT 17 2 4, S @Rk Fa - (CefB /4%b) ' G=/Bi) | (/o) (??ﬁ/%ﬁﬁ)
I o AfRieg
97 | i %‘g_\g G 2Ee - : Salary 16,000 Outstanding Wages
TR R e T, e (e 'R we efdin 1 (REEVASISR TS WG]/ TS TG
T %‘W’W U] ' Taxes 800 | Bad Debts Provision 1,400
3/ ' <
i OR / T2 / ey j _ By s
i istinguish between Fixed ; ' Teh :
A ixed Capital Account and Fluctuating General Expenses 1,000 | Bills Payable 42,400
ﬁﬁﬁm@quﬁgwmﬁwﬁ S . Sl FiRe A /R T | siora et /eiond &e :
]‘-Tga BGEC] F@W et @@?l o B fer | Bills Receivable ' 1,800 Sundry Creditors 13,200 _
() How the adjustment Wi i L oy e/ & © il i
ita J :

. admission of a new partner:}? S is made at the time of Debtors { 42,800 Tr?ad_‘ugl%;ccouﬁ:i‘;:
é@ﬂ%ﬁ@ﬁﬁm‘f%mw—FWWmemﬁma % /4 s R
tﬂ??‘}_\%?_fm_-ﬂﬁ“’ﬁmm o RS . Charity ; 1,400 | Gross Profit ; 1,24,600

(g TOnANEI o il (RIS ST TGN AN SN <51 27 | G A% Xl P S/ (6 TS
it g e Trial Balance of Arnab and Anvi as on 31st March, ‘ Investment 30,000 ‘| Discount 1.000
31%2023%@#@1@@3%@—@@%?@%%08 - 'i | (Rl /R <51/t _
31¢% W 2023 ©ifF C e A Bank Balance 15,000 | Commission 400
o S e S UleTet i fee s | S G /TE e /v
Trial Balance ) ; i
4 L | Cash in hand ‘ 600
— (SR i R TR o Gl /1ol Tl
1 ¥ . ; { .
3 o () Credlt. : ‘ SR} | Drawings :
(cofE/ % (&=1/5f=) | (cepfes/emm) (5=t /51 SIECI S
Machinery | 3,00,000 | Capital : _ S 12,000
aﬁvﬂﬁ/ﬂ@% NGEOPGEC e /e .
Furniture 8,000 Arnab - 2,40,000 | At 8,000
CIEISVARIMRIR e /o | CiSIAIE
Copyrlght 10,000 Anvi 1,60,000 Closing Stock 20,000
720/ TR O[S /I | AR TGS/ (1 TGS ki e il
puilding 1,35,000 | Reserve Fund 19,000 6,02,400 6,02,400
e s /s A | =
ICT (20] L L N G ' 21 / ACOU (2% Contd.
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Prepare Profit and Loss Account, Profit and Loss Appropriation
Account for the year ended 31st March, 2023 and a Balance Sheet
as on that date after taking into consideration of the following

adjustments :

o FKEIGEE REwAl S8 2023 b9 31 PO SR IIEH A Fe-
m@sﬁﬁm,m—wﬁwﬁmwmﬁaﬁw@@wmws

053 AR, [ T 2023m31 (4l TS A1 e T T NS
_ @
R 2R, TSGR SAEIEE R G (1RSI Tgenid awe Al |

(i) Partners are entitled to interest on capital at 5% p.a.
IR AR GRS 2R 5% 2R O SIS FE |
STl TR T T 5% 2 7 A R |
(i) Transfer 10% of net profits to Reserve Fund.
2 7T 10% TS el Ze SRS e |
oo aTCed 10% Hftew Hfed G ZIFE FO AT
- (i) Bad debts provision has to be increased to 5% on Debtors.
AT e A AT 7T 5% “C?qu’%ﬁﬂ%ﬁéml
AR A T AR To - 5% Jia TS 2|

2
21 / AGOU (22

e

(iv) Interest on Investment accrued % 500.
RfeE 79 500 %@ﬁ@ﬁ%?ﬁwf
ﬁﬁmmﬁ%vm 500 B W A7 23 SicE|

(v) Depreciate Machinery @10%.
el @s® 10% TS SR 41 IR & |

FEAifed To 10% A ST 4iF TS 1 |

21 / ACOU ; (23]



